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. A mixture contains lemon juice and sugar
syrup in equal proportion. If a new
mixture is created by adding this mixture
and sugar syrup in the ratio 1 : 3, then the
ratio of lemon juice and sugar syrup in the
new mixture is

a)l:6

Jb)1:4

o)1is

d1:7

. 2" =64, then value of n is?
a)b

b) 8

c)4

d) 12

. Trains A and B start traveling at the same
time towards each other with constant
speeds from stations X and Y,
respectively. Train A reaches station Y in
10 minutes while train B takes 9 minutes
to reach station X after meeting train A.
Then the total time taken, in minutes, by
train B to travel from station Y to station
Xis

a)l5

b) 9

c)6

d)8

. 45% of first number is equal to 60% of

second number. If average of both the
numbers is 10 less than the first number,
then find second number?

a) 45

b) 48

¢) 60

d) 80

. A cricketer had a certain average of runs
in 80 innings. In his 81st inning, he is
bowled out for no score, due to which his
average falls by 1 run. Then, find his new
average of runs?

a) 82

b) 79

c) 81

d) 80
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What will come in the place of the
question mark ‘?° in the following
question

44 x 325+7.25%x36="7

a) 404

b) 414

c) 394

d) 402

A discount of 15% on one article is the
same as a discount of 20% on another
article. The costs of the two articles can
be:

a) Rs. 40, Rs. 20

b) Rs. 60, Rs. 40

¢) Rs. 80, Rs. 60

d) Rs. 60, RS. 40

If a company sells a car with a marked
price of Rs. 2,50,000 and gives a discount
of 4% on Rs. 2,00,000 and 2% on the
remaining amount, then the actual price
charged by the company for the car is

a) Rs. 2,40,000

b) Rs. 2,59,000

¢) Rs. 2,41,000

d) Rs. 2,45,000

55% of 900 + 70% of 1050 =
a) 1030
b) 1230

¢) 1150
d) 930

How many times in a day the hour &
minute hands of an analog clock
coincide?

a) 24

b) 20

c)22

d) 26

Choose the option that best completes the
sentence: "I am not sure if I able
to attend the meeting tomorrow."

a) was

b) were

c) will be

d) am



1. U fRrsror F <A 7 3 SfR <R FHA SrguTa
T 1 fe 39 fAyor 3R IR @1 1:3 & Srua o
forerer= e Tt fRrsyor s oian &, o 7Y Ay
g & T SR AR BT 3UTd a1 &
a)l:6
e 14

e 125
) d)i1 27

2.2 =64, A nBTIA __8?
) 6
b) 8
04
d) 12

3.2 A 3R B HHL: WA X 3R Y 8 §9H 7d F
T GEX BT SR TP § THE TR UE] B L& Bl
F1 29 A 10 fre § ®YA Y R Ugdd § Sfafd o
B, 2 A § fiyeH & 91g WM X a0 Uge # 9 fie
ot g1 fhR 39 B g1 ©RA Y ¥ WA X & 6T
S A @ g S Y e ®

a) 15

. 99

&6

d) 8

4. UG TTT BT 45% GO AT & 60% b SRR
2| ofy <Y el @1 Sied g TEI ¥ 10 BH
gdgadden__ %

a) 45

by 48

c) 60

d) 80

5. U fohdpex Bt 80 UIRA! # 31 &1 U Afga
3iraa Tl 3o 81 o ot 98 fae [l @R &
33T B T, r® BRI ST 3 1 T R
T R, IS A SIS ®

a) 82

b) 79

c) 81
4780
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6. fRufefaa uy & vy frg 2 & W= O 31 3
44x325+725%36="7

4) 404

b) 414
c) 394
d) 402

7. T T W 15% BT FC o1 ¥ W 20% PI FT
PITARI A TG ANCGE Ol o

a) %. 40,%. 20

b) ¥. 60, %. 40

L%, 80,%. 60
d) . 60,%. 40

8. 3R BIS HUAT BT 2,50,000 & Fifed qed &
Y T PR a=dl g1 3R T 2,00,000 TR 4% H1
e AATE, IR A AR W 2% Fe Sar g, @ HUA!
SRIPR & f1e e a1 aRdfde Hed ?
a) %. 2,40,000

b) %. 2,59,000
L&Y% 2,41,000

d) . 2,45,000

9. 900 T 55% + 1050 BT 70% =
a) 1030
BT 1230
c) 1150
d) 930

10. T TGN ISt 31 e 3R e @1 g5 U@
3 o fopait R forere 82

\/a) 24

b) 20
c):22
d) 26

11. 98 [dded g off a1 &1 Gad =81 QT Bl
: “I am not sure if I able to attend the
meeting tomorrow”
a) was
b) were
c) will be

) am



12. Identify the correct form of the verb to
complete the sentence: "The company's
profits significantly last year."
a) increased
b) increasing
c) increase
d) increases

13. Choose the option that best completes the

sentence: "The group of students

going on a field trip."

a)is

b) are

c) has

d) have

14. Choose the synonym for the word

"abundant":

a) scarce

b) limited

) meagre

d) plentiful

Directions(15-17): In each of the questions given
below four words are given in bold. These four
words may or may not be in their correct position.
The sentence is then followed by options with the
correct combination of words that should replace
gach other in order to make the sentence
grammatically and contextually correct. Find the
correct combination of the words that replace
each other. If the sentence is correct as it then
select option (d) as your choice.

15. With power (A) growth, the demand(B)
for economic (C) in India is only going
to increase(D) further.

a) A-B

b) A-C

c) B-D

d) The sentence is correct

16. The IMF followed(A) the World Bank in

reducing(B)its forecast for India’s
economic(C) growth in the current
financial(D) year.
a) A-B
b) A-C
c) B-D
d) The sentence is coirect

SET-B

17. Today, thermal accounts (A) capacity
generation (B) for about two-thirds the
installed(C) generation capacity(D) in
the country.

a) A-B
b) A-C
¢)B-D
d) C-D

Direction(18-20): The following questions
consist of a sentence. Three of the words of the
sentences are marked in bold, which may or may
not be correctly spelled. Option corresponding to
misspelt word is your answer. If there is no
misspelled word in the sentence then choose (d),
i.e., “‘All are correct’ as your answer

18. The Budget’s provisons for collecting
more in taxes from the incomes of the
super-rich were aimed at redistributing
wealth to bring about more equitable
development.

a) Provisons

b) Incomes

c) Redistributing
d) All are correct

19. Policymaking has three esential
ingredients: technical elements,
administrative inputs and political goals
and packaging.

a) Policymaking
b) Esential

¢) Administrative
d) All are correct
20. Education, for most of us, is a necessary
public good central to the task of nation
building and, like fresh air, is necassary
to make our communities come alive.
a) Education
b) Building
¢) Necassary
d) All are correct

21. Identify the correct form of the verb to
complete the sentence: "The children
in the park yesterday."
a) play
b) played
c) plays
d) playing



12. 979 B R HYA & U foban & wet wu bt
UgHE $Y: "The company's profits
significantly last year."
a) increased
b) increasing

. £) increase
d) increases

- 13. 9 [q@eq g ol 9190 & GaY 313 QT Rl
€: "The group of students going on a
field trip."

a) is
b) are
¢) has

& have
14, "abundant" ec; T TATIATH Teg AT

) scarce
b) limited
¢) meagre
d) plentiful

D

31 (15-17); 2 Ru Tu ude vy & dics sfart #
IR ¥ RU U §1 A IR Ueg 3o Tel R A 8
1ft g € IR e Yt | 3190 F 918 Tsal & Tal
O ¥ fiFen 21a € O a1 1 BRI 3R
TR &0 F &1 S & g Teb GER Pl
ufaeTd ST 91Ul 39 Weg! & el Fared &l
T ST O U G S i &l 3 1 3G
a1 et § o fdsed (D) &1 99 B

15. With power (A) growth, the demand(B) for
economic (C) in India is only going to increase(D)
further.

EL) A-B

W) A-C

¢) B-D

d) The sentence is correct

6. The IMF followed(A) the World Bank in
reducing(B)its forecast for India’s economic(C)
growth in the current financial(D) year.

4) A-B

b) A-C

L) B-D

d) The sentence is correct
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17. Today, thermal accounts (A) capacity
generation(B) for about two-thirds the installed(C)
generation capacity(D) in the country.

a) A-B
vb) A-C

¢)B-D

d)C-D

A (18-20): FAufeiad usl & ve argu 81 ara
¥ T Td) Y Sics 1eR A RfRd frar man g,
forrept a1 Tl gt +ft Tepct § iR 71eT | e

a1 9Tdl Weg & ey eI I g1 IS
a0 T B TeId o1 9Tl Weg el § ot 3T
IR P EUH (d) ufd gt It & T

18. The Budget’s provisons for collecting more
in taxes from the incomes of the super-rich were
aimed at redistributing wealth to bring about
more equitable development.

a) Provisons

b) Incomes

c) Redistributing
~d) All are correct

19. Policymaking has three esential ingredients:
technical elements, administrative inputs and
political goals and packaging.

a) Policymaking
.b) Esential

c) Administrative

d) All are correct

20. Education, for most of us, is a necassary
public good central to the task of nation building
and, like fresh air, is necessary to make our
communities come alive.
a) Education
b) Building
c) Necassary

A) All are correct

21, TTE B TR HRA B o foba b g1 =0 B
g @Y "The children in the park
yesterday."

a) play

A) played

c) plays

d) playing




If all the letters in the word "CONSIDER" are
rearranged in alphabetical order, which letter
will be in the middle?

a)D

b) E

c)l

d N

22,

23. If Ram is taller than Bhim, Bhim is taller than
Krish, who among them is shortest?
a) Ram
b) Bhim
¢) Krish
d) Cannot be determined
24. Which of the following options should come
in a place ‘?’
JK12 LMI14 NOl6 PQI18 ?
a) ST21
b) RS20
c) TU22
d)Uv23

25. Find the missing term in the following
number series: 5, 8, 12,17, _, 30
a)21 b) 23
)24 d) 25

Directions(26-29): These questions are based on
the following arrangement. Study the
arrangement carefully to answer these questions.
RQDE8HO9LOPTEFM6IAT7I54BU2G
26. If all the numbers are remove from the series,
then which of the following element is 10th
from the left end?
a)R
b) F
c)M
d) B
27.How many alphabets according to the
English dictionary are between the elements
which is 7th from the left end and 9th from
the right end?
a) Five
b) Three
c) Seven
d) Ten
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28. Which of the following element is 3rd from
the right of the element which is 11th from
the left end?

a) M
b) 1

c)A
d) 6

29. How many such numbers are there in the

above arrangement, each of which is

immediately preceded by a consonant and
also immediately followed by a consonant?

a) Three

b) One

¢) Two

d) None of these

Directions(30-33): There are seven persons i.e. A,
B, C, D, E, F and G. They all belongs to the
different cities i.e. Kolkata, Mumbai, Chennai,
Pune, Lucknow, Ahmadabad and Delhi but not
necessarily in the same order. D belongs to Pune.
Neither A nor F belongs to Kolkata. B belongs to
Ahmedabad. C does not belong to Kolkata and
Lucknow. G belongs to Mumbai. A does not
belongs to Lucknow and Chennai.
30. Who among the following belongs
Kolkata?

a) E

b) D

c)F

d)G

to

31. Which of the following statement is true?
a) A belongs to Chennai
b) G belongs to Delhi
¢) C belongs to Chennai
d) F belongs to Pune

32. F belongs to which of the following City?
a) Chennai
b) Mumbai
c) Delhi
d) None of these

33. Which of the following combination is true?
a) A-Delhi
b) D-Pune
c¢) E-Kolkata
d) All are correct



22 Ff& V1% "CONSIDER" & G 18R &1 quifgepH
¥ gAY frar ST §, A S 97 9feR Ted o

G
a)D
b)E
« 8]l

d)N

- 3. FRIAMHITEE, MiHpu I T g, @
JTH I B IS BT 87
a)X[H
h)iﬁ'q

Py
o) Fyffa 7Ef fPar s awar g

4 FeRfRd i I eR T Re ? FRIAWR
ST 8T

JK12 LMI4 NOl6 PQl18 ?

a) ST21

%) RS20

¢) TU22

d) UV23

25, Frafefa T Saan & ardr 9ei Gl
5,8,12,17,_ .30

a) 21 vb) 23

¢) 24 d) 25

Adw26-29): T Uy FRafafad soarn & sruia
&1 3T U & IR & & o TawA BT AHTHD
g Hifod|

RQDSHILOPTEFM6IA7J54BU2G
26. TfS e ¥ Tt Temaft ® gl fear s,
ﬁaﬁ‘-@aﬁ@ﬁ?mmmwmw%‘?
a) R
Y F
)M
d)B

27. Sl T F AR Tferde & oid fba
\w?%rrﬁm@v@rﬁah?mzm@rg%%ﬁ
2) Ui
Pokikl
¢) 4Id
d) &g
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28, FafeiEa 4 9 & w1 ufede ST BR 19
uferde & g @ dwr 82
a)M
b) I
c)A
)6

29. IRV a1 § UL fopait ¥ &, o 4
TS & i Ugd U oo § AR old a1 7
U o 82

a)'éﬂ’f

b) TP

c)a

vdy 370 ¥ B TR

fAER1(30-33): T e 31ufd A, B, C, D, E, F 3R
G B1 3 gt 3rem-3ren WeRt Sufd Hiaerd, e,
AeFE, g0, T, SFHGTETE IR fereelt & el 8,
A wres) e b st 7 €1 D o § Wela
29N ATE F PIaear Y GsUd g1 B SEHGEG
Y Gefid 21 C DDl 3R TGS ¥ Gard Tl
21 G s A G B 1 A FT Ty TGS 3R A9
T T B

30. FafifEd &  oH Sraea ¥ Jeftd 87

c)F
d)G

31, FERfRT A AP T HYT I &7
a)A%ﬂé@m% ~

b) G foceh | Gafta & ~

¢) C 378 Y HEfIa § ~

) F IO § Yefa 7

32. F Fafaf@d & 4 iy 2er @ gefia g2

a) IS
b) Heig

o) feeet

_d) TTH AP eI

33, PrafifEa § 4 ©F 919U 90 82
a) A-faeet

b) D-

c) E-
d) gt wEl €



Directions(34-36): In each of the following
questions given below, a group of words is given
followed by four combinations of symbols
numbered A, B, C and D. you have to find out
which of the following four combinations
correctly represents the group of words based on
the symbol codes and the conditions given below.
In a certain code language,
‘Live Today Like Last is written as ‘ra mu pe ka’
‘Live Like A King’ is written as ‘su ka pe ke’
‘Be Like Last King’ is written as ‘pe na ke ra’
‘A Good Day Today’ is written as ‘da ku mu su’
34. Which of the following may be the code for
‘Day Was Good’ in the given code language?
a) sumuku
b) da me mu
c) supe ma
d) kupada
35. Which of the following is the code for ‘Good
King’ in the given code language?
a) sumu
b) ka da
¢) pe ku
d) none of the above
36. If “What A Day’ is coded as ‘de su da’ then
which of the following may be the code for
“What Good King’?
a) ke rade
b) mu da pe
c) ke de ku
d) da du de

37. Which is India's First Under Water Metro
Rail Project.

a) Mumbai Metro

b) Kochi Metro

c¢) Kolkata Metro

d) None of the above
38. Donation to Prime Minister's National Relief
Fund comes under which Section of Income
Tax

a) Section 80 CCC

b) Section 80 G

c) Section 81 DD

d) Section 80 C
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39. What is the Full Form of ISO
a) Internal Safety Organization
b) Integrated Safety Organization
¢) International Organization for
Standardization
d) None of the above

40. What is the Full Form of SAP
a) System Application Program
b) System Application in Data Processing
c) System, Application & Products in
Data Processing
d) None of the above
41. Where is the Headquarters of World Health
Organization (WHO)
a) Washington
b) London
c) Geneva
d) None of the above
42. Which State/Union Territory has the Highest
& Best Quality Lithium reserve in India
a) Odissa
b) Jammu & Kashmir
c¢) Chhattisgarh
d) Ladakh
43. Which state assembly has passed Act to
implement 30 per cent horizontal reservation
for women?
a) Andhra Pradesh
b) Kerala
¢) Uttarakhand
d) Meghalaya

44, Which company has developed a new
dialogue-based chatbot named ‘ChatGPT’?

a) Google

b) Microsoft

c¢) OpenAl

d) Meta
45. Cheetah were reintroduced in India in which
of the following National Park

a) Panna National Park

b) Kaziranga National Park

¢) Kuno National Park

d) Ranthambore National Park



{3dw1(34-36): Tl fou TU Ul Y ¥ et &1 S
"Tg f&an man § fored @16 A, B, C SR D AR arat
U] & IR HAIoH § | Tl e SR e &t e
YT & SR TR TGS Ul AT & e &

@r@qémﬁﬁmma‘f%mam%ﬁuﬁﬁfﬁa

- hdl

'Live Today Like Last @1 'ramu pe ka' forarm 8

'Live Like A King' @I 'suka pe ke' %@Tﬂm%

" ‘Be Like Last King’ Gl 'pe na ke ra for@r M 8

'A Good Day Today'ﬁ 'da ku mu su' feraT T §

4. ?ﬁ"l'ﬁcﬁ Wﬁ']}__ay Was qud'iﬁ—m
Profifad 7 § 19 I % 8 IHdl 82
z:)Zsu mu ku

b) da me mu

) su pe ma

«J ku pa da

25, 8 77 ey B FEfif@a §  oH W els
'Good King'%ﬁﬂ%’?

@) sumu

) ka da

¢) pe ku

© @) SR A A BIS el

36. Tf¢ 'What A Day' I 'de su da' P Y H PIS
fmm%,ﬁ‘fﬁaﬁﬁaﬁquﬁs'wm Good
King' %%’Q?ﬁm%?

a) kerade

b) mu da pe

#) ke de ku

¢)dadude

3.7.Hﬂﬁﬁus?ﬁm=ﬂ$:ﬁ%ﬁaiaﬁﬁa€ﬁ=ﬁﬂ%?

&) C

J) DI A
(:)Wﬂﬁa

) (*)Gﬂﬂﬁﬁﬁ@'?ﬁéﬁ

8. TUTAHA!

@ 3fdTid 3ATAT 87
&) YT 80 CCC
b) YRT 80 G

¢) YRT81 DD
) URT80 C

6d BN H G SRR Pl e YR
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39, ISO BT QUf U T §
a) Internal Safety Organization
b) Integrated Safety Organization
c) International  Organization  for
Standardization

d) STRIEI H 4 D1 6!

40. SAP HT Ul U §
a) System Application Program
'/}) System Application in Data Processing
¢) System, Application & Products in
Data Processing

d) SR & A B ol
41. 3% TR ST (WHO) BT BT ol

a) aIfRFTeA
b) T
) fomar
d) IRe H A P
4. URd ¥ 59 Io0 / F% wRE wew A
F=dd R araH Tuadr dra fafig| @1
YR
a)G@W
_b) TR 3R FIAR
¢) TG
d) g

43, Tra o 1 faumrayr = Afgensii & ferg 30
yferera &fdisT SR&0 AR @A o forg siferfam
urfed fopar 82

a) Ty U

b) Rd

) TRES
&) AT

44, TG ST T 'ChatGPT' THS Th =T
Fare-anuiid eare faeia fear g?

ca) e
) ATEH NI
¢) ST T 318
d) Her

45. diar Y yRd & Fafifed 7 @ fea g
I B g IR T ot



46.

47.

48.

49.

50.

3L

52,

53.
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Which country is the host of the ‘12th World
Hindi Conference’?

a) Italy

b) Germany

¢) UK

d) Fiji

Which country is the FIFA World Cup
champion in the year 20227

a) France

b) Argentina

¢) England

d) Morocco

What is ‘RAMBAAN’, which was recently
seen in the news?

a) Elephant Species

b) Mobile Clinic

c¢) COVID vaccine

d) Launch Vehicle

What is the name of the newly coronated
King of England?

a) King Charles III

b) King George VI

¢) Kind Edward VII

d) King Charles II

Who is the current CEO of NITI Ayog?
a) Parameswaran Iyer
b) Amitabh Kant
c¢) Arvind Panagariya
d) BVR Subrahmanyam

What is Ministry of Coal’s Action Plan
Target for FY 2023-24
a) 893 MT
) 915 MT

b) 1200 MT
d) 1012 MT

Coal India Limited’s Coal Production in FY
2022-23 is?

a) 703.21 MT

b) 703.41 MT

c) 703.61 MT

d) 703.01 MT

When was Initial Public Offering (IPO) of
Coal India Limited launched?

a) 2005

b) 2010

c) 2015

d) 2012

54.

53.

56.

37

58.

59,

60.

What is the first coal company established by
Government of India after Nationalisation in
19717

a) Bharat Coking Coal Limited

b)National Coal Development Corporation

¢) Coal India Limited

d) Western Coalfields Limited

In October, 2022, Coal India Limited (CIL)
signed a memorandum of understanding
(MoU) with RVUNL for setting up 1,190
MW solar power project in which State?

a) Maharashtra

b) Gujarat

c¢) West Bengal

d) Rajasthan

In March 2023, WCL wunder Project
UTKARSH (Surface Coal Gasification)
floated tender for production of?

a) Methanol

b) Ammonia

¢) Ammonium Nitrate

d) Natural Gas

In MS Excel, The intersection of rows #nd
column called

a) Sheet

b) Cell

¢) Workbook

d) None of the above

Functions/formulas in MS Excel must begin
with

a) ()sign

b) +sign

c) =sign

d) >sign

Which one is not a function in MS Excel?
a) SUM
b) GRT
c¢) MAX
d) MIN

Which function in MS Excel tells how many
numeric entries are there

a) Num

b) Count

c) Sum

d) CHKNUM
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b) ST
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d) fopoit
47. 99 2022 H YT 3y U AT FH AN E?
oA my

) teT

c)'&-f"a'?s'
d) ARaD!

48, BT 81 & FHTER) § 8T THE T 2

49, TTAE T TS IS PTRTAH R ?
) f = m

CUICAY!
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50, ey ST & A WEN B &2
a) TRHYRA 3R

b) HATH Hid

) 3RfdE gEmTRar

. d) &9 3R gIeIvaH

s1. fag o 2023-24 & U Pigen darew & F
g 1 6T 1 §
3) 893 MT
) 915 MT

5>, fagad 2022-23 & #ia sfear fafies a1 e
Tqed 4

a) 703.21 MT

¥7703.41 MT

¢) 703.61 MT

d) 703.01 MT

53, Fia Sfear fifres o1 3R ufeds iR
(IPO) HE Al fdpaT 7T Y12
a) 2005

b) 1200 MT
) 1012 MT

" 212010

c) 2015
d) 2012
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54. 1971 H F 9I¢ YRd PR gRI
RITOT ggel SIger a1 S It 82

_ a) YR SIfeT ®id foftes

55. AEwR, 2022 ¥, ®ra sfer fafes (cw) A
g Tsg & 1,190 AMETE R S GRS
WId A & T RVUNL & 919 TP FHAl
YT (MoU) TR TEI&R fhy?

a) HERTY

b) TeRTd
¢) Ufgm &

) STRITT

56. A 2023 H, RGNS IHY (WPY DA
AP ) F ded WCL 7 frads e & forg

it =fee

50, Fufifd & @ &9 I 0 @ (Rd & U6
e el 87
a) SUM

_b) GRT

60. TH TY Tadd § ®F 91 HaRM Jard g &
a) Num

) Count

¢) Sum

d) CHKNUM




61.

62.

63.

64.

65.

66.

67.

68.

In MS Excel, The process of arranging the
items of a column in some sequence or order
is known as

a) Arranging

b) Autofill

¢) Sorting

d) Filtering

The basic unit of a worksheet into which you
enter data in MS Excel is called a

a) Cell

b) Table

c) Box

d) Column

In MS Excel, rows are labelled as
a) A,B,C,etc
b) 1,2,3, etc
c¢) AlLA2, etc
d) $ASI, $AS2, etc

An MS Excel file is generally called a/an
a) Worknote
b) Workdocument
¢) Workbook
d) Sheet

In MS Excel typical worksheet has
Number of column

a) 512

b) 256

c) 1024

d) 16384

In MS Word, What is a Landscape?
a) A font style
b) Paper Size
c) Page margin
d) Page Orientation

Which of the following is not a font style?
a) Bold
b) Manuscript
c) Italic
d) Regular

In MS Word, Which is not a margin type?
a) Top
b) Left
c) Right
d) Center
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70.
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73.

74.

75,

In MS Word, What quick fix will we employ
to align the centre?

a) Ctrl+ A

b) Ctrl +E

c) Cturl+D

d) Ctrl+B

In MS Word, we should press _ to open
the help window.

a) Fl

b) F2

c) F9

d) Fl11

In MS-Word, which enables us to send the
same letter to different persons ?

a) Macros

b) Templates

c) Mail Merge

d) None of the above

Which of the following language is not
mentioned in the Eighth Schedule of the
Indian Constitution?

a) Nepali

b) Kashmiri

¢) Sindhi

d) English

According to which rule of the Official
Language Rules, the letters received in Hind
should compulsorily be answered only in
Hindi?

a) Rule-5

b) Rule-6

¢) Rule-7

d) Rule-8

India has been classified into how many
language regions according to Official
Language Rules?

a)3

b) 4

c)5

d)6

How many rules are included in the Official
Language Rules?

a)9

b) 10

c) 1l

d) 12

-



61. TH UG U H PIaH B AMSeH B fvell Wby
T AR H IR TA B UPA D e 8
a) Arranging
b) Autofill
.€) Sorting
. d) Filtering

62. THIITC B G SIS forgH 31T TH T Tae
* JTITH BRAE, S¥_ dEd @

a) Cell

k) Table

c) Box

d) Column

63. TH UY Ualid # Ufdaal &1 ded ?
a) A, B, C, 3T

£y'1,2,3, 3¢

¢) Al, A2, 3T

c) SASI, $SA$2, 3

64. T UH U9 UaRIdl 1edl Bl HHAR TR gl
WA g

a) Worknote

- %) Workdocument

¢) Workbook

d) Sheet

65. TR A AR adhfic A plaraI g §
a)s12

v£) 256

c) 1024

d) 16384

66. TH TH-98 §, A%y 1 82
a) U Wi el

b) BT BT HTHR

¢) U AIfST

WIS CE e

67. e B T 19 T i el TS @7
) Bold

b) Manuscript

¢) Italic

d) Regular

68. U9 T9-a8 H, 9 & ¥ 31 91 71 &1 UBR
. e
) Top
b) Left
¢) Right
d) Center
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69. TH TH-98 H, YU 313 B P [ §H B
T QiEhe BT HANT B 82
ay Ctrl + A
) Ctrl+E
¢) Ctrl+D
d) Ctrl+B

70.TAUE e A A @R S faw g/
I TR

a) F1

W) F2

c) F9

d) F11

71. TH TH-98 ¥, 89 U 8 1T
ikl Y e o forg e d F
a) Macros

b) Templates

c¢) Mail Merge

) IRIF F A BIE T8

72.ﬁy§§a§:§gﬂmuﬂ?ﬂu#ﬁmﬁm
?

we

) HIHRT

c)f@l?-ﬁ
d) 3Tl

73. f&Y & U vzl &1 Sare IerHST fRHEe &
g from & SuR el ¥9 9 Faq gt & &
fear ST Enfgu 2

a) fFg|- 5

P -3
JTART HIA 27

K gH-6

fAgm- 7
\ﬁgﬁuﬂ-s
74, ISTHTYT & HRA & fpa HrST &
¥ aeffepa fpar man @ 2
a)3
b) 4
C).5

vd) 6

75. IFSTHIYT FAgaTaeh § fram FAodl s1awRw g 2
a)9
b) 10
c) 11
o] 12




76. How many languages are mentioned in the
Indian Constitution at present?
a) 24
b) 22
c) 14
d) 25

77. 10" Wage agreement came into force w.e.f.
a) 1% January 2016
b) 30% June 2016
¢) 1% July 2016
d) 30" July 2016

78. Revised Minimum wage for the lowest paid
employee on surface as per the 10" wage
agreement is

a) 26292.97 per month
b) 29394.23 per month
c) 28630.49 per month
d) 24495.19 per month

79. Nursing allowance in 10" wage agreement is
paid at the rate of
a) Rupees 300 per month
b) Rupees 350 per month
c) Rupees 400 per month
d) Rupees 500 per month

80. If a double roomed house is allotted to more
than two persons other than urban area.
a) No one will be eligible for house rent
allowance.

b) All will be eligible for 1% of basic as
house rent allowance per month.

c) All will be eligible for 2% of basic as
house rent allowance per month.

d) All will be eligible for 10% of basic
as house rent allowance per month.

81. Under NCWA-X, to avail Travel Assistance
for Home town and for Bharat Bhraman, an
employee has to put up an attendance of?

a) 190 days in UG and 250 days in
Surface

b) 190 days in UG and 240 days in
Surface

c) 180 days in UG and 240 days in
Surface

d) 180 days in UG and 250 days in
Surface

N
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82.

83.

84.

85.

86.

87.

88.

If an employee joins on appointment in the
month of July-August, the Casual Leave to
be credited on proportionate basis will be

a) 6 days

b) 5 days

c) 4 days

d) 11 days

Payment of gratuity Act was enacted in
a) 1965
b) 1970
c) 1972
d) 1986

Maximum no. of days Sick Leave is granted
without medical certificate

a) 6 days

b) 3 days

c) 5 days

d) 10 days

Under NCWA-X, Sick leave with full pay
can be accumulated up to

a) 110 days

b) 120 days

c) 140 days

d) 150-days

Eligibility for getting thouse building
advance from coal mines provident fund
organization is :
a) Having completed 5 years of service
b) Having completed 10 years of service
c) Having completed 12 years of service
d) Having completed 15 years of service

Coal Mines Pension Scheme came into force
w.e.f

a) 31% March 1992

b) 31 March 1994

c) 31 March 1996

d) 315 March 1998

Numbers of years of Pensionable service
required for pension under Coal Mines
Pension Scheme is

a) 5 years

b) 10 years

c) 15 years

d) 20 years

Ll



76. TAHM H YRAG Yo H o fbd-l HmE
affa & ?

a) 24

vb) 22

. 77. 10 I gH EEIVGEE
a) 1 SFaR1 2016

b) 30 S[F 2016

/1 S[TS 2016

d) 30 @IS 2016

78. 103 I GHIA P TR WHY W T4 HH
o ug A HHARI & o1 GG ATH d
& 26292.97 Ul TR
b) 29394.23 Wfd AT
¢) 28630.49 Ufd AT
o) 2449519 Ufd A8

79. 109 37 FHSNA | AR U

2T faaT ST §

a) 300 99 Ui @18

. b)350 ¥uQ Ul A
©r400 ¥UY Ul A8

d) 500 ¥ Ufa A8

80. TR-XE &7 & Tfe &) HHRI BT HGM &f ¥ 31w
sfaTal @1 sdfed foar STar 8, 99
o) 1S Wt TepT fobrar HiT & o g =8Y ghmi
b) T4} wfey |18 e v Y & T U H aRie &
1% & fore g g |

o) gt ufey 718 ey v v & U H SRe &
2% & fore g gl |

d) gyt ufe A1 Srrary fmn v = U J af¥fe &
10% & fo o g

81. NCWA-X % d&d, 819 e33R HRd YAl &
feT o= FEraT U @R & oY, U FHARI &l
ferat SufRufd gof @t i

a) ol 7 190 T SR Wxw | 250 f&

b) ot 7 190 f& oIk w=thg H 240 fa

O TETH 180 R SR TBE A 240 7

d) Toit 7 180 f&1 3R woohw 250 f&
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82. Ufe BIE PHARI Agfad W JaTs-3Rd 718 |
PTHHR T HAT 6, < 3TeH R STHTRI
TS YR TR STHT foat S|
a7y 6 fed

b)Sﬁ:r

q4fea

d) 11 &7

83. et YT s 9 | S
fopar mar o1

a) 1965

b) 1970

c) 1972

11986

84, Tafercar vmmor vz & fomn R dle sif¥eaw
_ @rénte

ay6 e

b)3fe=

c)5ﬁ7f

d) 10 &=

85. NCWA-X & dgd, IR da7 & 9y Ry <ig
b STHI 1 ST Tball &
a) 110 fea
by120 f&A
o) 140 f&T
d) 150 f&

86, Hoa GH Hfaw [y Tea ¥ g FAai
ST M dA P A ®

.a) 5 oY B JaT T HA F 916

b) 10 TS B T T HA & q1G

¢) 12 T4 & a1 I & & 91

d) 15 T8 @ ¥aT G DA D TG

87. DITCT @ UIE Ao feAid  gumEt
Rl
a) 31 ATE 1992
b) 31 AT 1994
¢) 31 ATE 1996
_dy31 A 1998

88, BT W UTH ToHT & dgd U & fa
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a) 5 9rd

g) 10 I

c) 15 91el

d) 20 9T



89.

90.

91.

92.

93

94.

95.

What was the Minimum Guaranteed Benefit
as per NCWA-X

a) 15.00%

b) 19.00%

¢) 20.00%

d) None of the above

According to Payment of gratuity Act, the
gratuity will be paid at the rate of
a) One month of wages for every
completed year of service
b) Ten Days of wages for every completed
year of service
c) Fifteen Days of wages for every
completed year of service
d) One Month Fifteen Days of wages for
every completed year of service

As per NCWA X amount is to be paid
as Life Cover Scheme (LCS)

a) 112800

b) 100000

c) 150000

d) 125000

What is the Full Form to NCWA
._A) National Coal Wage Agreement
b) Notional Coal Wage Agreement
c¢) National Coalfields Wage Agreement
d) None of the above

What is the Full Form of SPRA
a) Special Piece Rate Allowance
b) Special Piece Rated Amount
¢) Specific Practice Rated Allowance
d) None of the above

Under CPRMS-NE(Modified), the maximum
amount reimbursable during the entire life of
the Divyang Child would be?

a) Rs 1.5 lakhs

b) Rs 2.0 lakhs

c¢) Rs 2.5 lakhs

d) Rs 3.0 lakhs

Child Care Leave may not be Granted for
Less than Days in a Spell.

a) 30 Days

b) 20 Days

¢) 15 Days

d) None of the above
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96.

97.

98.

99.

100.

7% deduction from salary against pension
fund started from
a) 1% January 2017
b) 15! October 2016
c) 13 July 2016
d) None of the above
The gratuity which becomes payable under
the Payment of gratuity Act, must be paid
within
a) Ten days from the date it becomes
payable
b) Fifteen days from the date it becomes
payable
¢) Thirty Days from the date it becomes
payable
d) Three Months from the date it becomes
payable

The Ex-gratia amount to next of kin of
contractors’ workers in case of Fatal Coal
Mine Accident is?

a) 5 Lakhs

b) 10 Lakhs

¢) 12 Lakhs

d) 15 Lakhs
According to Maternity Benefit Act, 2
Nursing breaks daily of 30 minutes duration
is given to women employee until the child
attains age of
a) 15 months
b) 12 months
¢) 24 months
d) 18 months
Minimum period required for
admissibility of Full Dearness Allowance

a) exceeds 6 hours

b) exceeds 8 hours

c) exceeds 12 hours

d) exceeds 24 hours

ul

L) 3



89. NCWA-X & S8R gAqH TREIGd oH
T

a) 15.00%

b) 19.00%

220.00%
: d) IR H I FIS T8T

© 90, JUSH YA SHUTH % 3THR IUGH Bl &
§ YA faar smerm

a) 991 & Y@ Ul 9N & fo T HIg &1 dore

b) a1 & Td® Ut ¥ o fore 9 AT &1 aor

o) a1 & Y QUi 9N o fore Uge feHT &t dorg

d) ¥a1 3 T qof Ay & forg U w7e viste fa
acra

91. NCWA-X & ATIR AZH Hax WpiH (TaHITH)
FEUH IR YT BT 9 §

a) 112800

b) 100000

¢) 150000

125000

92. NCWA &1 JUf &0 F1 8
BFIYAE B aW TiHe
b) NS B a5 ThHe
C) a9 TtHe
d) SRIed & § PIs el

93. SPRA &1 qUl ST FT §
vaa/gpecial Piece Rate Allowance
b) Special Piece Rated Amount
c) Spemﬂc Practice Rated Allowance

d) SWRIe | Y IS e

94. CPRMS-NE (H2nfae) & d8d, f*?ﬂffﬁ%?@
Sia & SR ufagfd arg sifddaa afr
a) 1.5 @ ¥ud
b) 2.0 ARG ¥UY
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d) 3.0 TG ¥UY
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& forg FioR et fpar T WA B |
a) 30 f&=

b) 20 f&

aoyls fea

d) IWRIad # T P15 el

A ew
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a) 1 SFaR1 2017
b) 1 2016
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d) SWRIed & q PIS T8

97. TGt YTa HTAFaE & I8d & UGS &I
SN, SR YTH PR Pa ST
a) 3T B &1 aRIG F g feA
b)éﬁ%‘ﬁaﬁarﬂ@@ﬁ%’ﬁ‘—[
SR B A N i
d) 30 81 1 aRE J I 7E

98. HTTeh B IIe Wl gl & gTid § ShaR! &
FHHREGl & Fdead REdeR & ured Teg-A=iar
CUE U

vA) 5T
b) 10 G
c)12dd
d) 15 @G
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g BAdw ey

a) 15 "l

b) 12 HGH

c) 24 g
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IAqESEY_ §

a) 6 °e 3 3ffep

b) 8 ©ic ¥ 3t
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